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L. Qphbwlhwh ywhwmnyphtp, wyy pynid

1.1 30197233 fdnpwywiuly u/d hwwn 150 150 22500
[.2 30197232  |wpwquiljwp u/u hwwn 20 150 3000
1.3 30192700 |Dwy A4/100 hunn/ U/u wintth 5 1500 7500
1.4 30197632  |@ninp A4 Snplunnp U/u winith 50 1800 90000
1.5 30192700 [dwwiwb pninp /Adkd/ U/u hwwn 6 500 3000
1.6 30192700  [Jwwdwih gniliunnp u/u hwin 6 500 3000
7 30192700  [dwwiwh pninp U/ hwin 30 200 6000
1.8 30192160 |Q0gnn htinniy Lwphhy/ U/ hwn 4 300 1200
1.9 30192930  [Qugnn htinnwy /qphy/ U/ud hwu 4 300 1200
1.10 24910000  |Unuhba snp u/u hwwn 25 300 7500
.11 30192121  |Ylinyluw U/l winith 5 200 1000
1.12 Juhph pwpahl U/l hwun 1 500 500
1.13 43231100  |wdpwy thnpp_ U/u nnth 3 200 600
1.14 44423600  |Yupnil dwwguytl /100 ud hwwn 4 2600 10400
1.5 44921600 |ywuph6 u/u wnntth 15 250 3750




.16 30192121 |9phy wphluinp u/u hwin 15 100 1500
WE 30192128 |appy qtynyp U/ huwin 2 200 400
1.18 30197231 wjwundwuuwghg wpwgquiljup U/u hwin 70 200 14000
1.19 30192125 [duptp U/ hwit 20 200 4000
1.20 30197621  [$jhuy swpwn U/u hwwn 2 2300 4600
1.21 30237310  |pwpphy U4 huwin 3 7000 21000
1.22 dybhy U/ huin 2 1500 3000
1.23 pwlinh U/d hunn 4 100 400
1.24 ulL unfpwly U/u hun 10 40 400
1.25 gnibwynp Gugnih pninp U/u winith 1 850 850
1.26 nlinpli U/ hwin 5 250 1250
1.27 39263200 gpuubilyjwluyhl ghpp u/4 huwn 4 650 2600
1.98 55821400  |nnp, u/ud hwin 2 2800 5600
1.29 SUI97100  [uwnbwbinh wubn /dt/ U/u wnith 5 200 1000
1.30 SUL9/11IT  Tuinbwybinh wubin /thnpp/ u/u wnnith 5 100 500
1.31 SU197234  |onintn U/4 huun 5 1200 6000
1.32 tplnniwih uljny U/u hwwn 2 400 800
1.33 Pty usb 64 GB U/ud huin | 5000 5000
1.34 Ywinhs /unbuybn/ U/u hun 1 1700 1700
1.35 Bnpuywiul guywhulngd U/u hwwn 8 400 3200
1.36 Ywiphs /umbwybp/ u/u hwin 4 600 1200
1.37 aniliuninp pnine U/d huin 50 20 1000
1.38 abinpny wwwyliw u/u hwwn 1 3500 3500
1.39 wwinynghn u/d hunn 25 200 5000
1.40 dpwin U/u huin 10 200 2000
1.4] dnpwin U/u hwin 6 60 360
1.42 dpwin u/u hwwn 6 30 180
Lol 252190
2. Shnbuwluwl wypwhphbp, wy pyYnd
2.1 39812300 |Mrupom U/U hwtn 4 350 1400
2.2 39800000 |Stinbunulint Akninglikn (obwmhik) U/l antia 6 400 2400
2.3 33761000 |9niqupwilh pninpe U/u wnntth 20 750 15000
24 BATIIE |l kil U/U. wnth 8 400 3200
2.5 39831278  |Unlwlh hknnily /5¢/ U/u hwtn 2 1300 2600
2.7 39831283 _ |zwwnwl dwpnkint gnpddwsp U/U. hwwn T 1000 7000
2.8 39831245 | knnily o&win /51/ U/U. hwuwn 2 3000 6000
2.9 31685000 |6plwnwauuit jun 3 dbun U/ hwn 3 2200 6600
2.10 9hljiniswnty U/u. hwwn 3 300 900
2.11 31531220 Eljwdwy 1004w u/u. hwuwn 5 100 500
3.18 31684400 [Jupnul, U/U. hwwn 3 500 1500
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2.14 unuwjithl U/U hwuwn 1 450 450
2.15 19641000  |wnph inwypul U/u hwwn 20 350 7000
2.16 39221490 |uwnilug U/u hwwn 2 500 1000
2.17 nnijh dnn U/u hwwn 2 1300 2600
2.18 30192231 uljns UkS U/U hwun 5 500 2500
2.19 30192231  |ulyns thnpp U/u hwn 5 200 1000
2.20 39836000 wyb) U/u hwn 5 1000 5000
2.21 39831280 wwjwynt henniy U/u hwin 5 500 2500
222 44831100 Jwuwnhyuw uid hwtn 4 650 2600
2.23 24451141 whutnwhwlhg hGnnLy U/l hwtn 4 1000 4000
2.24 39831281 wwwyh dwpnnn [we U/l hwun 2 600 1200
2.25 39831240 Ywhnyp Jwpepnn UnLe Ul hwtn 2 1000 2000
2.26 wlatnnghy nhuwtlubph /runhwungh upphy/ Ul hwun 3 800 2400
2.27 wldbinnghy pwg U/l hwuwn 1 500 500
2.28 whunwhwlnn uwnp urd hwuwn 1 3000 3000
2.29 nnuwnuly U/l hwwn 5 30 150
2.30 gnwutljwlwihu ghpp U/l hwun 1 800 800
2.31 lwn u/u hwin 1 2000 2000
Chnunikip 99800
3. Lhiihwljub byniptp wyn Pynud
3.1 33134000 Aynipwhuwy dhnwn JEglnuyuyg U/ wnnith 5 900 4500
3.2 33131150 bgnln U/ud Jhwip 3 2200 6600
3.3 24952100 Lwghuwyhl dnd U/u wnnith 40 4500 180000
3.4 24952100 U npbipudnpdwi dnd U/u wntth 40 1200 48000
3.5 33133000 Quinbhuinip /posiuy/ u/u hwn 5 25000 125000
3.6 huplwlwpdpugnn wjwundwuw Aawhunwly/ U/u nnith 3 3000 9000
3.3 Quuhwlynip U/u nnith 3 3500 10500
3.8 Ejtupnpujuinky U/d hwn 1 35000 35000
39 uwhpumwjpng wuuljw U/u hwwn 10 2500 25000
3.10 Uniubip ghuyu /4-pn jupg/ U/ud Lg 10 2000 20000
3.11 Unuwihwnbhubhjuljui ghuju uU/u g 100 100 10000
3.12 uughinwly Ethndh wjwuuminuuw U/ud wnnith 4 5800 23200
3.13 Guwuwnky bpllynniwbh U/u huwn 10 1200 12000
3.14 whb Gpynunwbh U/ud hwn 100 40 4000
3.0% ojpynLwwnnp U/ud hwiwn 2 3000 6000
3.16 ghwuwhnlhs /nphdbp/ U/u hwun 1 170000 170000
3.17 ghwuh nubwy U/u hww 10 1200 12000
3.18 qhwuh uuinki uU/u hunn 15 1200 13000
3.19 whlwnkyu U/u hwwn 1 90000 90000
— T=_ YT [ A— A 2000 12000




3.21 33141227 jubligbivn /ipuup/ U/ hww 3 3000 9000
3.22 wnwiih unquiliuly U/u hwwn 15 200 3000
3.23 oppninninhly jwp /pupuly/ u/u wintth 3 300 900
3.24 wilwwnnihwljwh whbghun U/l hwn q 3000 12000
3.25 wunwdlwwmbhubhlulwbh wyhbgbw /wblnGught/ U/u huwn = 3000 12000
3.26 Yudbpw U/u huwin 30 15 450
3.27 wyjhywwnp Zwhdpun hwdupbine dny/ u/u wntth 3 5000 15000
3.28 whynutiuh jnin U/u nnith 1 13500 13500
3.29 tithmlh Yupdhp wypnnbigh wjwundwuuw u/u wntth 4 3000 12000
3.30 inLuwlupdpugnn wjuwundwuu U/l nntth 2 4000 8000
Chnudtip 906650
4 .Jdwnthp wyn pynud
4.1 9132200 Rthghl NEgniywp 91 Uil [hwnp 1000 500 500000
5. 161N 3L
5.1 33661122 NMupughnudn uU/u nntth 4 130 520
52 15911100 Uwhpwn 96% u/d thwip 20 1300 26000
5.3 33141111 Uwlwnunfhly U/l wnith 6 50 300
5.4 03111250 pudpuly U/l hunn 2 200 400
5.5 33621510 Juujunnujphy U/l wnnith 2 500 1000
5.6 unLypuuwnhl u/d hwiwn 2 750 1500
5.7 hpniwypndbh u/u huin 10 70 700
5.8 33141133 phiin U/l hunn 4 250 1000
5.9 whniwnph uyhpun u/u huin 2 150 300
5.10 wihwyghl Uy hunn 9 150 1350
5.1 Unnpwjw /100 hwuwn/ U/l Lwp 20 25 500
512 nn u/d hwn 1 300 300
5.13 dwugbighnwh unyduwn u/u wdwnjw 1 1350 1350
5.14 yhywung U/l hwp 1 200 200
5.15 hunnhnud u/u huwp 10 200 2000
5.16 Jwinywnpnhu u/d huwun 1 700 700
5.17 gbpnLyuy u/d hwp 10 25 250
5.18 pd2ywlwl Yugbihu Uy Uq 1 3000 3000
5.19 wlwighu U/l wdwnuw 10 50 500
5.20 nhutnnpn; Ud wdwnyw 10 35 350
321 33141142 LGnwnyhy 54; u/u huwin 10 30 300
5.22 ntpuwdbunuignl u/d wdwnjw 5 80 400
5.23 Uwhpwn 70% /4504)/ Ui huwun 2 450 900
& A | I D A 1 R = =




5.25 yGuninuwy U/l hwin 1 1150 1150
5.26 wnnunJtunn U/l hwun 2 8000 16000
| 1 42920
6. ‘l-limu(innbmhwﬁ 1 phllihlullmtz tniehn 20000
7 Lumnmfmnnn uuiwhlinlhﬁ b nEnwgnpdwlwi uwppbip 20000
| |
8. Uwipqugnip
8.1 35331100 Puuljinpnih glinul u/ud hwuwn 2 3000 6000
8.2 35331100 Jdnjkjpnih glinuiy 0] hwn 2 4500 9000
8.3 37461170 phlhup qlinul L abnhwphwlitn Ul hwwn 1 4000 4000
19000
2 UchudsudvLever
2.1 Swyyugpnipjnii wyy EYnud
2l 22813000 Luujuhwub gpplip b -alowpnpbp U/l hunn 28000
2.2 22811000 Awuwiwmpubliitp U/l hunn 10 2400 24000
2.3 22813000 dwuyywl QU7 u/ud hun 1 1260 1260
2.4 22813000 dwuywl QU2 u/u hun 1 1200 1200
25 22813000 Uwnnigiwl gppnijlykp Uy Jnduwytiljm 80 540 43200
2.6 22813000 nLuwiinnuijwb mndubp U/l huuwn 80 240 19200
Cunuitip 116860
2.2<wmwmnil wjupmujuiinipynLl yuwhwignng
2:2.1 22458200 “Thuyndlitp U/d hwwn 63 3200 201600
252 “hynidh Gkpnhp 63 500 31500
Lhnuwdkip 233100
3 OUNUSBNFE3NFLULEN wyn pynid
3.1 Nunhubinipyubp optijnh wwhwwbnipnih ud 360000
3.2 65300000 Ejtiywpwkbtipghwih dwnwlwpwpnid u/d 840000
3.3 65200000 Phwywl qugh dwnwljupupnod U 1000000
L 3.4 65100000 fudbyni oph dwwwlwpwpnud b gpwhbnwgnid U/l 80000
3.5 64200000 dhpujwd hinwhinuwljwy Uy 53000
3.6 90511000 Unpwhtinwgnid Ul 43200
3.7 72411500 hnuphlq urd 27000
3.8 <wuwwhwlubl dpugpbph vwwuwpyned u/d 107000
3.9 79521100 wuwinfkiwhwnud U/ 30000
3.10 92411100 f¢tpptinh W wdiuwwgptph pudwlnpnuwgpnipnih u/d 145000
3.11 76131100 Suquuwwuwpliwd hwdwljuwpgh mbh. vywuowpyned u/u 9500
3.12 79131300 k. Unnpwigpnieynih ud 9000




3.13 CUpwghl Yepwinpngnud u/u 360000
3.14 50531200 Uwpgwtlnhntdﬁhnh ytipwlinpngniy /pwippphgh |hgpwinpnid/ Ul 140000
3.135 Ybpwwwnpuwunnidibp U/l 200000
ninhwlnip piinyph uy, dwinwynipynihiitp u/u 30000
3433700
~
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